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The war dragged on in stalement un�l 1989.
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1. 2. 3. 4.

Choose the best answers and mark on your answer sheet.

In 1991 the USSR and the USA pledged to stop supplying arms.            
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1. 2. 3. 4.

While the idea of disarmament has been around, arms control is a more recent concept.
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1. 2. 3. 4.

The successful arms control agreement of the post-war years have been those that required little 

intrusive verification.


�* +�(�� �$,-� �,�. /
�'� #0��� #�� &�
��� #
���� 1��2


4-

1. 2. 3. 4.

The term “peaceful cohabitation” was part of a soviet propaganda offensive.
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1. 2. 3. 4.

The wars were caused by the unwillingness of Israel’s neighbours to accept its legitimacy as a

state.
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1. 2. 3. 4.

They launched a pre-emptive attack on the Arab air forces.
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1. 2.

3. 4.

Disagreement on this issue played a major part in the sino-soviet doctrinal schism.
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1. 2. 3. 4.

The term “kitchen cabinet” was applied to the confidants of the former British prime minister.
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1. 2. 3. 4.

When the Labor party comes to power in Australia, it denies the prime minister one important

source of power and patronage.
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1. 2. 3. 4.

Opposition to the Eurocommunist groups was a mainstay of these parties.

&"K� �$K�G� L�M �N9� &"K� <�7 �$O� &"5; P�


11-

1. 2. 3. 4.
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Left-wing socialists tend towards overt atheism.
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1. 2. 3. 4.

The direct attacks on the civilian population swiftly bring the enemy society to capitulate.
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1. 2. 3. 4.

In the USA, a powerful body of jurisprudence has been developed.

���� �T$� &4�I� !5)� &,�C> �T$� #���7��� D��2�
�


14-

1. 2. 3. 4.

In view of the very violent character of twentieth century history this may seem paradoxical.
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1. 2.

3. 4.

Only powerful enforcement mechanisms can guarantee that a de jure right becomes a de facto

one.
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1. 2. 3. 4.

It is this disproportionate power of small political entities used as the principal argument.
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1. 2. 3. 4.

Cases of non-violent action can be found in the history of most countries at most times.
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1. 2. 3. 4.

Some nineteenth-century movements consciously used non- violent methods.
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1. 2. 3. 4.

Nothing so demonstrates the impermanence of political life than the history of the cold war.
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1. 2. 3. 4.

Indian community resisted various forms of discrimination.
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1. 2. 3. 4.

The right of people to determine for themselves the state in which they will live and the form of

government it will have is called…….....................

self-opinionated self-esteem

self-confidence self-determination
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1. 2.

3. 4.
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It is unclear whether containment will have any policy relevance in the future.
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1. 2.

3. 4.

 The political position of states that have decided not to support either the West or the East is

called………..............
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1. 2. 3. 4.

The main problem in any democratic system is that of establishing an equilibrium between

freedom and authority.
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The Gaullists are still lukewarm towards France’s membership of the European Communities.
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NPT means……….....................
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1. 2.

3. 4.

The Korean Peninsula, following a short period of independence was annexed by Japan in 1910.

occupied divided attacked colonialed
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1. 2. 3. 4.

When the gold standard was abandoned, anarchy reigned in the international money markets.
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1. 2. 3. 4.

Non-Marxist social scientists tend to assume that racism, as a form of xenophobia rises from social strains.
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1. 2. 3. 4.
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